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Introduction To Three Dimensional Geometry

rea - 11
Ffarta sfafa o afaa
Co-ordinate Axes and co-ordinate planes in three 4. Distance between two points
Dimensional space. a fig o & S @ =4
fafa siaRer # Fdene—aser ik Mcenie—dad . .
P(xpy]!Z]) Q(xglyglzz)

xoy or xy - plane(def)
yoz or yz - plane(de)

7 Xoz or xz - plane(der)

O = origin (4o fa=g )

Co-ordinates of a point in space
JaRer # ve g & fHce®
Y
i) In x-axis = y=0,z=0, point = (x,0,0)
X— 3T H y=0,z=0, fdg = (x,0,0)
ii) In y-axis = x=0,z=0, point = (0,y,0)
y— AT H =x=0,2z=0, fd=_ = (0,y,0)
iii) In z-axis = x=0,y=0, point = (0,0,z)
z— 3T H =x=0,y=0, fdg =(0,0,2)
iv) In xy-plane = z=0, point = (x,y,0)
Xy — dd #H =2=0, g = (xy,0)
v) In xz-plane = y=0, point = (x,0,z)
Xz—da H =y=0, ﬁi = (x,0,2)
vi) In yz-plane = x=0, point = (0,y,z)
yz—dad =x=0, fa=g = (0,y,2)
Octants (3rTeN) :-
I Im |ar (v |v | vl |VII | VIII
+ |- - |+ |+ - - +
y [+ [+ |- |- |+ |+ |- -
z |+ |+ |+ |+ |- - - -
HafT-11 (TfOTeN

PQ = \/(1’2—371)24-(?]2—y1)2+(zz—zl)2
5. Section Formula (fa¥rs 93)

A. Internal Division Formula

3fa: favro g3
Plx,y,z) R(x,,2) Qlx,y,2,)
m n
PR:RQ =m:n
= _ [ mx,+nx, My>+ny, mz,+nz >
R (X:Y9Z> ( m+n s m+n > m+n

B. Mid -point Formula (A& — fd=g 93)

P(x,y,2) Q(x,y,2,)

M(X,;/,Z)

M = (X7y,z) = <X15X2’y1;y2321522>

C. External Division Formula(aTgd fa9Toi= )

p (xl’y 1’21) Q(xyy »Z 2) R(x,,2)
[ 4 : ] °
—_— n —
> m <
PR:RQ =m:n
R:(x,y,z):<me_HX1,my2_ny1’mZz_nZ1>
m—n m—n m—n

Note :- For Ratio (37urd @& forq)
Let(®1) min=A:1
i.A=+ve = Internal division (3fc: faWTST)
ii. A= -ve = External division (3183 faTai)

Multiple Choice Questions
(sg fawedia ueA)

1. The co-ordinates of any point,which lies on x axis
are

x — 38T R Rerq fodl fdg 1 Fasna €
@  (0x,0) (b)  (x0,0)
©  (xx0) (d  (oxx)
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2. The co-ordinates of any point, which lies on xy-
plane
xy — dd W Rerd & fdg @1 Fcwns 8
(@) (x0.2) (®)  (x,0,0)
(¢)  (x,0) (d  (0y2)
3. A point at which all the three perpendicular
coordinate axes meets is known as
Ffl N T e i g W fAea €
PEATT B
(a) Meeting point (Ufcress fa=g)
(b)  Origin point (T favg)
(c) Triple point  (ffd=g)
(d) None of these (378 | IS 2
4. (-1,-5,-7) lies in octant
(-1,-5,-7) ereefer # Rerq 2
(a) 1 (b) VI
(¢) V (d 1
5. (2,8,-1) lies in octant
(2.8,-1) areier H Rerd @
(a) First (92¥) (b)  Second(fgti)
(c) Sixth(¥<H) (d) Fifth(u=@)
6. (-4,2,-7) lies in octant
(-4,2,-7) areier H Rerd @
(a)  Third () (b)  Fourth(Trgeh)
(c) Sixth (¥=H) (d) Seventh(AwH)
7. (4,-3,-1) lies in octant
(4,-3,-1) 3rseier & Rerg g
(a) I (b) II
(c) VI (d 11
8. (2,0,0) lies in ((2,0,0) RerT ©)
(a) I octant (J&H 3TECI2M)
(b) x-axis (x-3787)
(c) y-axis (y-378&7)
(d) None of these (379 & ®Ig 7Ta)
9. The point (3,0,-4) lies on the
fdg (3,0,-4) Rerd =
(a) x-axis (x-3& W)
(b)  xy-plane (xy-del UY)
(¢) yz-plane (yz-del UX)
(d)  xz-plane (xz-del UX)
10.  The point (3,-4,0) lies on the
HaMT-11 ATIOTA)

12.

13.

14.

15.

16.

17.

18.

fig (3,-4,0) Rerd 2

(a) x-axis (x-3& W)

(b)  xy-plane (xy-el W)

(¢)  yz-plane (yz-dol WX)

(d)  xz-plane (xz-Tol WX)

Which of the following point lies on xy-plane
fFfaRad & & &9 |1 95 xp - a0 w Rera @
(@ (0,0,2) (b) (5,-8,0)

() (1,0,-1) (d) (3,0,0)

Which of the following point lies on xz-plane
fFrafoiRed 7 & & A1 95 xz- 7o W Rera @
(a (7.8,-9) (b) (5,0,2)

(c)  (0,2,8) (d (5.,2,0)

Which of the point lies on third octant

= 7 B a1 fog Tl oreier R Rerd @
(@) (-2,-1,7) (b) (-2,-7,-8)

() (542) (d  (-2,7.-8)

The equation of plane passing through (-1,0,-1)
parallel to xz-plane is

xz-dd & IR, 85 (-1,0,-1) F oA are

ATl BT FHIDHRT B

(@) y=-2 b y=0

() x+z=0 (d x=0
Coordinate of the origin is

T favg @1 fders 2

(@ (LLD (b)  (0,0,1)

(¢) (0,1,0) (d) (0,0,0)
Which of the following is Not correct?
1 7 ¥ B9 8 T8l 57

(@) (2,0,4) lies on xz-plane(xz- TaT TR Rerd )
(b)  (0,0,-8) lies on z-axis  (z- 31&T W Rerd ®)
(¢)  (-1,3,0) lies on yz-plane(yz- 7ol WX Rerd &
(d) (0,0,0)is origin(qa g 7)

The distance between the points (-2,1,-3) and
(4,3,-6) is

figatl (-2,1,-3) 3R (4,3,-6)d § & I 7

(@ 5 (b) 2

() 3 @ 7

The distance between the points (0,7,10) and
(-1,6,6) is

figail (0,7,10) 3R (-1,6,6)@ a= @I T B

(@) 3 (b  3v2
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© V2 (@ 243
19. The distance between the points A(0,7,10) and
B(-4,9,6) is
fdgaii A(0,7,10) 3R B(-4,9,6)® 41 BT qA & 54
(a) 6 (b) 3
(© 32 ) 2
20. The distance between the origin and (2,3,4) is
o fdfg qem 2,3,4) @ 99 B 2 B
(a) 29 (b) 29
(c) 3 (d 5
21.  IfA(1,-1,3) and B(2,3,-5) are two points then AB 27.
will be
i A(1,-1,3) 3R B(2,3,-5) a1 fag¥ & @ AB &
A9 BT
(a o6 (b) 3 28.
() 9 (d) 4
22.  The points P(-2,3,5),Q(1,2,3) and R(7,0,-1) are in
order form
g8 P(-2,3,5),Q(1,2,3) 3R R(7,0,-1) %9 w4 B
(a) collinear(Fx¥)
(b)  Non-collinear(3iv) R
(c) Right angle triangle(FH®IOT %ﬂj?ﬂ)
(d) None of these(ZTH A BIg o))
23.  Thepoints (-2,3,5),(1,2,k)and (7,0,-1) are collinear
then k will be
g8 (-2,3,5),(1,2.k) 3R (7,0,-1) W@ & I k
HT A9 BRI
(@) 2 (b 3
(c) -3 (d 1
24,  Thepoints (3,-2,4),(k,1,1)and (-1,4,2) are collinear 30.
then k will be
g8 (3,-2,4),(k,1,1) 3R (-1,4,2) @ g a k
& A BT
(@) 3 (b) 1
(c) -1 d 2
25. The co-ordinates of the point which divides the
join of the points P(5,4,2) and Q(-1,-2,4) in the
ratio 2:3 is
fagall P(5,4,2) @1 Q(-1,-2,4) &I
DT 2:3 AT H AT Be drel fa=g
& fAdwna @
13 8 14 L.
@) ( 5°5°5 ) 5
384 :
o (354
HaMT-11 ATIOTA)

The co-ordinates of the point which divides the
join of A(3,2,5) and B(-4,2,-2) in the ratio 4:3 is
fagall A(3,2,5)70 B(-4,2,-2) & fAa™ & &
YERGTE BT 4:33gu1d H fA9IfoTa &= a1l fag
& frdena @

(@ (12,1 (b) (1,2-1)

(©)  (-1,2,1) d (1,-2,1)
Mid-point of A(2,4,6) and B(-2,2,4)
A(2,4,6) TAT B(-2,2,4) FT 989 — fdg &
(@ (0,1,5) (b) (0,3,4)

(c)  (0,3,-5) d) (03,5

Mid - point of line segment of the points (0,-1,2)
and (2,1,-2) is

fa=gatl (0,-1,2) 3R (2,1,-2) B A arell @
& 7 — fag 7

(@) (1,0,0) (b)  (0,1,0)

() (1,1,0) (d (LLI)

If point p lies in the first octant, then the sign of
x-coordinate will always be

afe fag P v srerer # Rerd © a1 x - Fidei
&1 g gHem B

(@) +
b -
(¢)  x coordinate always 0

(x- frderias e 0 ®)
x-coordinate can be + or -

(- frderias + a1 - 81 WaaT ©)

(d)

Which of the following is undefined
FR=IfRad H | I IIRATT T
(a)  point(fag)

(b)  Lines (¥@n)

(c) plane(ae)

(d)  All of the above(3WR & |+T)

Very Short Answer Type Questions
(erfa org SR 9e)

4 I 99 Find the distance between the points
fagail & 9= @1 0 a1 B

(2,3,5) and (317)(4,3,1)
(-3,7,2) and (3i%) (2,4,-1)
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10.

I1.

12.

13.

14.

HefT-11 oI

(-1,6,6) and (31R) (-4,9,6)
(2,4,3) and (31R) (2,2,1)
(0,0,1) and (ai) (1,1,1)

Find the mid-point of the line- segment points
P(7,0,2) and Q(3,2,4) .

fa=gail P(7,0,2) 3R Q(3.,2,4) T MA@ arell @
&1 e fIg o B |

Find the mid point of the line - segment points
(0,2,1) and (7,8,9)

fa=gail (0,2, I)H%ﬂ (7,8,9) &1 o™ arell @1 &1
ey fag oa o

In which octant does each of the given points lie?
fag Ty gy fra ererer w Red €

(1) (2,4,6)

(i1) (-1,2,-1)

(iii) (4,2,-1)

(iv) (-2,-3,-7)

) (-2,8-1)

(vi) (3,-1,-2)

(vii) (-8,-4,6)

(viii) (-7,6,-4)

If a point lies on xz - plane then what is its y -
coordinate?

I T 95 xz-ddd W Red g a1 9@ y -
RENICc T

If a point lies on xy - plane then what is its point
co-ordinate ?

RIES - Rerd &
W&?ﬁg?xy dd W Rerd fag &

If a point lies on x - axis then what is its point co-
ordinate ?

I Tt g x- 31 W Reyd & a1 gaar fag
ﬁ%ﬁw%‘?x

In which plane does the point (4,-3,0) lie ?
75 (4,-3,0) T a1 R Rerq 27

In which axis does the point (0,-2,0) lie ?
g (0,-2,0)f @17 § Rera 2°

If a point lies on y - axis then what its x and z co-
ordinate ?

15.

I U favg y - 31e W Refd 2 d x TT 2z B
e Far 87

Find the distance between (0,0,0) and (a,b,c).
(0,0,0) TAT (a,b,c) B d1F @I T S BN |

Short Answer Type Questions
(org, SN 9w)

Show that the points (3,-5,1), (-1,0,8) and (7,-10,-
6) are collinear.

qeisy b fawg  (3,-5,1), (-1,0,8) &1 (7,-10,-6)
W F
Find the coordinates of the point which divides the
join of the points P(1,2,3) and Q (2,4,-6) in the
ratio 2:3.
fagail P(1,2,3) T Q (2,4,-6) &1 e | &+

DI 2:3 3guTd ¥ faaIioTd &= aret fawg
& ez = ST |

Find the mid point of the line - segment points
(5,6,8) and (3.,4,2).

faegail (5,6,8) TN (3,4,2) & e aTell WarEvs
B 7 — fd=g S1a B |

Find the ratio in which the line - segment joining
the points (4,8,10) and (6,10,-8) is divided by yz -
plane .
fagall (4,8,10) T2T (6,10,-8) ®I A= drell
EEUS, yz — dd gRT o argura # fawad
B & S S BIFTY |
Show that the points A(0,7,10),B(-1,6,6) and C(-
4,9,6) are the vertices of right -angled triangle.
?{%ﬁgqﬁ%ﬁngQA(O7 10),B(-1,6,6) 31X C(-4,9,6)
T FHSOT et @ o g |

Long Answer Type Questions

(el Sada geA)

Prove that the points (0,7,-10),(1,6,-6)and (4,9,-6)
are vertices of isosceles triangle.
g o &5 gy (07 10)(16 -6) TAT (4,9,-6)
v wHgarg Bt @

Show that the points (2,3,5),(-4,7,-7),(-2,1,-10)
and (4,-3,2) are the vertices of a rectangle.

quisy & a5V (2,3,5).(-4,7,-7),(-2,1,-10) T
Let A(2,1,-3) and B(5,-8,3) be two given points.

Find the coordinates of the points of trisection of
the line segment AB.
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AT A(2,1,-3) @ B(5.-8,3)fQU 77 a1 fag¥ |
RERITE AB BT T FH—A17d 1 arel g3l
@ fden® sd IR |

AB = \/(xQ-x1>2+(yz'y1)2+(22‘21)2
=/@+3y+(4-7)+(-1-2f
=y/25+9+9

4. Find the mid-points of all sides of triangle ABC, _
where A(2,4,6),B(3,2,1) and (-2,0,1). =43 units (A1) Ans.
Brgsi ABC & woft gorell & 7ea — ¢ s 3. Apg-
&R, S8l A(2,4,6),B(3,2,1) 3R C(-2,0,1) € | ACL6.6) B(4.9.6)
5. Find the equation of the curve formed by the set of ¢ °
all points whose distance from the points (3,4,-5) x,=-1 x,=-4
and (-2,1,4) are equal. y,=6 y,=9
fdgall & 99 Ageay B WHIERU S BTy z,= z,= 6
ST favgatl (3,4,-5) TAT(-2,1,4) & gRAT FAH
gl By distance formula (3 9= )
Multipule Choice Question
( sgfameda ge= &1 STx ) AB:\/(xz-x1)2+(yz-y1)2+(22-z1)2
=V(-4+17+(9-6)+(6-6)
. b 2. ¢ 3 b 4 b 5 d v VA y+ )
6. ¢ 7. ¢ 8 b 9 ¢ 10. b =v919+0
1. b 12. b 13.a 14 b 15 d = /18
16. ¢ 17. d 18. b 19. a 20. b ) .
21, ¢ 22 a 23 b 24 b 25 a 3/2 units () Ans.
26, ¢ 27. d 28.a 29.a 30.d 4. Ans:-
Very Short Answer Type Questions A(2,4,3) B(2,2,1)
(erfa org S yw) ° °
. A o2 %2
| Anzsgs B(4.3.1 n %2
(.9:) (9'7) 21:3 22:1
i i 2 : By distance formula (X G )
Y= Y= ‘
z,=5 z,=1 AB:\/(xz'xl)2+(y2'y1>2+(22'Zl)z
By distance formula (§31 3 ) =/(2-2F +(2-4F +(1-3)
=y0+4+4
AB :\/(X2'x1)2+()/2'y1>2+(22'21)2 B \/g
=V/(4-27+(G-3)+(1-5) ] |
—JA10+16 —2\/5 units (A=) Ans.
=420 units (AT91%) Ans. 5. Ans:-
A(0,0,1 B(1,1,1
2. Ans:- (c ) ( ° )
A(-3,7,2) B(2,4,-1) x,=0 x,=1
¢ ° y,=0 =1
x,=-3 x,=2 ! Y2
z,=1 z,=1
v, =7 y,=4
z,=2 z,=-1 By distance formula (§31 g3 )
By distance formula ({\9{ = )
HET-11 (TFOTeD) T35) FHEIRA. — e I6-wg-300 Teas e Aaor & (2024)
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10.
11.

AB=/(x-
=/(1-0)
=J1+1+0

=42 units (AT3) Ans.

)+ (Gnn) +Hzmaf

+(1-0f +(1-1)

Ans:-
P(7,0,2)
@

H ® i
M(x,,2)

Q(3,2,4)
@

Mid - point of PQ (PQ T HeI ﬁi)

+
.

<7+3 0+2 2+4)

> 2 0 2

<&;§)
2°2°2

( 3) Ans.

Ans:-
A(0,2,1)

x =0

1 2
y1:2 y2:8

ZIZ 22:

Mid - point of AB (AB &1 HeY ﬁi)

—(xy)= (x1+xz yl;fyz,zmszZ>

:<0+7 2+8 1+9>
2
1

Ans:-

(1). I
(iv).
(vii)

VI
VI
VI

(iii)
(vi).

Ans:-
Ans:-
Ans:-

HefT-11 oI

A%
VIII

12.

13.

14.
15.

Ans:-  xy- plane (xy - Te)

Ans:-  y- axis(y-31&7)

Ans:- x=0,z=0

Ans:-

A(0,0,0) B(a,b,¢c)
[ e
x,=0 xX,=a
yl = 0 y2 = b
z,=0 z,=¢

By distance formula (531 3 ¥)

AB = \/(Xz ‘X1>2+(yz 'y1)2+(22 'Zl)2
=(a-0f+(b-0)+(c-0f

=ya' + b+ units (Ar3®) Ans.

Short Answer Type Questions

(org, S ue)
Ans:-
Given points ( f&7 g fﬁ@(’ )
A=(3,-5,1)
B =(-1,0,8)
C=(7,-10,-6)

By distance formula (531 g3 )
AB=1/(-1-3)+(0+5F +(8-1)
=/16+25+49 =490 =310

BC =y (7+1F+(-10-0)+(-6-8)

=/64+100+196 =360 =610

AC=y(7-3V+(-10+5)+(-6-1)

=/16+25+49 =./90 =310

clearly (3usc:) BC = AB+AC
.. Given points are collinear

- few Ty fagl W 7|
Ans:-

P(1,2,3
(' ) R.(x,y,z)

2 3
PR:RQ =m:n = 2:3

m=2,n=3

Q(2,4,-6)
®
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1 2
y]_ y2:4
z,= 22:—6

By internal division formula(3=:faTST= 3 )

— —(mx;tnx M7 mz+nz
R X, ),z <
(x3.2) m+tn > m+tn > mtn

:<2><2+3><1 2X4+3 X2 2><(-6)+3><3)
2+3  °  2+3 2+3

:(4+3 8+6 —12+9>
5 5 5

3. Ans:-
ACSH),

M=(x,y,z) B(3,4,2)
—O——— —e

Mid-point of line AB (X@&T AB &1 #ed — fawg)

M =(x,y,z):<x1+xz Nty Zl+Zz>

2 > 2 2
:<5+3 6+4 8+2>
20 2 0 2
:(ﬁﬁm)
2°2°2
=(4,5,5) Ans.
4, Ans:-
R =yz - plane (1) = (0,y,2)
[ 4 @ @
A(4,8,10) Q(6,10,-8)

Let (HTTT) Ratio(37UTd)
AR:RB=mmn=A:1
By section formula (f3¥TsT9 g 9)
R:<A~(6)+4 A-(10)+8 A-(-8)+10>
A+1 > A+1 > A+l

_(6A+4 10A+8 -84+10
(O’y’z>_(/i+1’ AF1 A+l )

Compairing(JefT PRA W)

_ 6414 _ _ "2

So, A= % (External)

0

.. Ratio=A:1=2:3 Ans.
5. Ans:-

HefT-11 oI

A(0,7,10)
A=(0,7,10)
B =(-1,6,6)
c= (_41996)
B(-1,6,6) C(-4,9,6)

By distance formula (31 3 ¥)
AB=y(-1-0f+(6-7F +(6- 10y
=J/J1+1+16)
=/18 =32 .. AB’=18

BC=y(-4+1)V+(9-6)+(6-6)
—/9+9+0

=/18 =3/2 . BC*=18

AC=y(-4-0F+(9-7) +(6-10)
=16 +4+16
=36 =6 .. AC*=36
clearly (U<d:)AC? = AB* + BC?
By pythagoras theorem (TSR UHT ),
4B =90°

So, Given points are vertices of right angle

triangle.(feQ 717 fagy HH®IOT Byt & MW 7 [)

Long Answer Type Questions

(et ST geE)
Ans:-
A=(0,7,-10) A
B = (1,6,-6)
C=(4,9,-6)
B C

By distance formula (S 93 )

AB=y(1-0f+(6-7+(-6+10)
=/1+1+16)

=/18 =342
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BC=v/(4—1F+(9-6)+(-6+6)

=/9+9+0
18 =3./2

AC=y(4-0Y+(9-7V+(-6+10)
-J16+4+16
/36 =

clearly (u=<d:) AB=BC

So, Given points are vertices of isoscels triangle.

(few 71g fag¢ wHfgarg gt & i €1) Proved

Ans:-
Let A=(23,5,) A B
B=(-4,7,-7)
C=(-2,1,-10)
D =(4,-3,2)
C

By distance formula (31 3 )
B=y(-4-2)+(7-3F +(-7-5)
(36 + 16+ 144)
196 =

BC=y(-2+4)+(1
=\/4+36+9

49 =7

_7)2

+(-10+7)

CD=y(4+2¢+(-3-1F+(2+ 10}

=36+ 16+ 144
=/196 =14

=J(4-2)+(-3-3V +(2-5)
—/4+36+9

49 =7

AD

clearly (0=cd:) AB=CD and BC=AD

opposite sides are equal (T tJ,\rHQf T 2 )
3d(Now):-
AC=y(-2-2 +(1-3F +(-10-5)
=/16+4+225 =,/245
BD =/(4+4F+(-3-7) +(2+7)
=64+ 100+ 81 = /245

HefT-11 oI

clearly (Wcd:) AC=BD

Diagonals are equal (fd@&0f T &)

.. Given points are vertices of rectangle
- few g fagy omaa & o €
Ans:-

A B
(2,1,-3) (5,-8,3)

AP=PQ=QB
Let P and Q are the points of trisection of AB.
AT AB & 99 Brfra fagg P der Q £

Then P divides AB in the ratio 1:2 and Q divides
AB in the ratio 2:1.

P,AB &I 1:2 ¥ faWIIG ®RaT © TT Q , AB &I

2:1 # fqunfrd &=ar & |

Now internal division formula (3fd: a9 =

)

1 x5+2x2 1x(-8)+2x1 1><3+2><(-3)>
1+2 1+2 1+2

5+4 8+2 3- 6)
3

b b

Ix5+1x2 2X(-8)+1x1 2x3+1x%(-3)
2+1 2+1 ’ 2+1

10+2 -16+1 6-3)
3 3

b

)

C
(_250,1)

Q

P =Mid - point of AB (AB T Heg ﬁ?g)

B .
(3.2,1)

:<2+3 4+2 6+1

:<2’>2’2
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Q = Mid - point of BC (BC &I #edl fawg)

:<3-2 240 1+1>
202 2 2

(L
_<2,1,1>
R = Mid - point of AC (AC &T #edl fawg)

:<2—2 4+0 6+1>
20 2 2

- 7
- (0,2, 2)

So , Mid - points of sides AB, BC and AC

. 5,7\(1
of triangle ABC are <5,3,§>,<5,1,1> and

<O, 2, %) respectively.

31c: st ABC & qoTiail AB, BC a1 AC & Hed
% (252 7) (L AR

WW.<2,3,2>,<2,1,1)694T (o,z,z)%l

Ans:-

Let P(x,),z) be any point on the given curve and let
A(3.,4,-5) and B(-2,1,4) be the given points.

AT P(x,),2) 3T 0 a6 R Rerd o fag 7 @i
AT A(3,4,-5) T2 B(-2,1,4) faT Y fa=5V |

A(3s4a_5)

P(xyz) B(-2,1,4)
Given ,
PA=PB
= PA?=PB? (Squaring both sides )
= (x-3) 4 (-4 +(z+5)=(x+2)+(y-1)+(z-4)

= x?-6x+9+)-8y+16+22+10z+ 25
=x’+dx+4+)*- 29+ 1 +22-82+16

= 0=10x+6y-18z-29
= 10x+6y-182-29=0

Which is required equation of curve.

gg dh BT e JHHIT B |
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